LRSS\ (SUSE)
BT [Re#s sus)

Original ELESA Model LM.SST

15 _,_15°
v ‘
\ ZEfE Wi ‘
— | \
1;1? \ | 1 M [ . ]
sa ]
K —EilE ‘
- = ‘ ZEE W _l_
f
5
o]
(ittga17)
(SI5—£L) S| (/2 Ay 77 1-f1%)
FAT | IWRRY | Fub | IN\wRAIN—
-
(/2R TIN-ft%) LM-BP| | SUS303 | SUS304 |#7t4—)k
[LM-NS] HI BT ANY~(TPE)
(SIN—#&L)
o HAWE (MWEE) | EE
&= & D M L Li | Ls | W | Wi | A *N) ®)
LM25- 8A-SUS 59 | 40 57
“LNi25- 8B-SUS | 25 |M 8x1.25 8 3 19 12 13 | 4 7 67
LM32-10A-SUS 73 50 113
LM32-10B-SUS 32 |M10X1.5 103 80 23 15 16 45 1 129
LM40-12A-SUS 40 89 63 26 185
LM40-12B-SUS 126 | 100 211
LM50-12A-SUS 50 M12x1.75 91 63 28 17 18 ) 55 16 258
LM50-12B-SUS 128 | 100 283
LM60-16A-SUS 116 80 510
R ———— X -
LM60-16B-SUS 60\ Mi6x2 161 | 125 %6 24 %16 %0 561

£ - M8 TEL.0575-28-4811 TEL.0575-32-2239

=9 I-KL-DaD




(feigy 1)

o HERE(BNE) | AR

-] % D M L L+ L3 W Wi A (kN) ®
LM25BP- 8A-SUS 605 40 67
o gasls | 25 M 8x125| 2 205 | 12 | 13 | 4 7 o
LM32BP-10A-5US 745 50 109
LMa2Bp-1085us | o2 |M10X1S o s g (245 15 | 16 | 45 1 124
LuoBP-125U8 | 05| 6], 190
LM40BP-12B-SUS 1275 100 | 2" 216
LuSOBP-12US | MI2X1.75 0 51 63 iy 17| 18 )85 16 268
LM50BP-128-5US 1205 100 | 2 204
LM60BP-16A-SUS 175] 80 505
LMGoBP-16B5Us | 00 | M16X2 gog yps | 75| 2 | 24 | 6 30 566
(JYRUY TS I\—{stE)

o HENE(BEE) | BR

AR 3 D M L L1 L3 W Wi A (kN) ®
LM25NS- 8A-SUS 805 40 66
LN2SNS- 8B-sUS | 20 | M BX125 ga et gy | 200 12 | 13 1 4 7 72
LM32NS-10A-SUS 745 50 109
LMa2Ns-1085Us | oo |M1OX1S Mo g g (245 15 | 16 1 45 1 124
LIMONS124:5US |, 905] 63 |, 183
LM4ONS-12B-5US 1275 100 | 2" 211
LUSONS-128:8US | MI2X1.75 00 51 63 iy 17| 1855 16 268
LM50NS-12B-SUS 1295 100 | 2 295
LMGONS-16A-SUS 175] 80 505
LugoNs-16B5us | 00 | M16X2 IHgog yps | 375 | 24 | 24 | 6 30 567

c AT UL ARF -G T DERT RN RV D
EEHEE RREROEBE EEXZOHFERRVS
SR ETEEDDED HZBECOERICELTOET,

-CMBP({E#R 21 7) 1/ Sy REDR) T 2 -V &V

B E N EBREICIERLET,

£ - M8 TEL.0575-28-4811 TEL.0575-32-2239

VA D-RL~IaD



